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INSTRUCTIONS:

1.

READ ALL THE QUESTIONS CAREFULLY (FROM START TO FINISH) BEFORE ATTEMPTING
TO SOLVE THEM.

ANSWER ALL QUESTIONS.

SHOW ALL CALCULATION AND MOTIVATE ALL ANSWERS.

. YOU MUST DOWNLOAD THE QUESTIONS YOURSELF AND ARE NOT ALLOWED TO OBTAIN

THEM BY ANY OTHER MEANS THAN VIA BLACKBOARD. YOU ARE NOT ALLOWED TO
SHARE YOUR DOWNLOADED COPY OF THE QUESTIONS WITH ANY OTHER STUDENT. YOU
MUST COMPLETE AND SUBMIT THE VERSION ALLOCATED TO YOU.

. YOU WILL BE ALLOWED 3 OPPORTUNITIES TO UPLOAD A FILE. ONLY THE LAST FILE

UPLOADED WILL BE MARKED. PLEASE MAKE SURE THAT YOU SELECT THE CORRECT
FILE. PLEASE SUBMIT A SINGLE PDF FILE IN WHICH ALL PAGES HAVE THE SAME ORI-
ENTATION.

ABSOLUTELY NO TEAMWORK OR EXTERNAL ASSISTANCE IS ALLOWED — IF THERE IS ANY
INDICATION THAT YOUR WORK RESEMBLES ANOTHER STUDENTS WORK, OR IS NOT YOUR
OWN WORK, THE CASE WILL BE SENT FOR ANALYSIS AND A DISCIPLINARY HEARING AND
POSSIBLE EXPULSION MAY RESULT.

THE EXAM IS OPEN-BOOK, SO YOU MAY CONSULT YOUR TEXTBOOK, SLIDES, VIDEOS
ETC.

PLEASE ALLOW SOME TIME FOR UPLOADING AND SUBMITTING YOUR SOLUTIONS. THAT
IS, PLEASE DO NOT LEAVE IT TO THE LAST MINUTE TO SUBMIT IN CASE YOU FIND THAT
YOU HAVE CONNECTIVITY ISSUES.

GoOD LUCK!
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Question 1 5]

Given the sytsem of equations:

r+ky=1
kx+y=1

a) Find the values of k for which the system has

(i) no solution. (1)

(ii) exactly one solution. (1)

(iii) infinitely many solutions. (1)

b) Solve the system when it has exactly one solution. (2)

Question 2 3]
Let A = [a;;] be the 3 x 3 matrix defined by

0, of |7 — k| >1
ajr = {1, if 7 —k|=1
2cosx, if j=k

Find the acute angle z if det(A) = 0.

Question 3 5]

Let A =

_= N O
o O O

Find matrices E;F,G and R such that E;F and G are elementary matrices, R is a matrix in row
echelon form, and A = EFGR.

Question 4 2]

Find the value of a if the angle between the vectors (1,0, —1,3) and (1,/3,3, —3) in R* is ar.
Question 5 2]

Show that the following are not vector spaces:
a) Let V be the set of all real numbers. Define vector addition and scalar multiplication as follows:

T 4 y = the maximum of x and y

k kx
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(1)

b) Let V be the set of sequences, with usual addition but scalar multiplication defined as follows:
For w = (uy,ug, ... ug,...) and c a scalar:

cu = (cuy +c,cus+c,...cup+ec,...)

Question 6 7]

(a) Let P(2,0,3) be a point in R and let v; = (0,0,—2) and 7y = (—2,4,1) be two parallel
noncolinear vectors in R?.

(i) Find the vector equation of the plane containing P, 7; and s. (1)

(ii) Find parametric equations of the plane containing P, 7; and . (1)

(b) Let w = (0,2,—2) and v = (1, 3,0). Find a nonzero vector orthogonal to both @ and v. (2)

(c) If @, v and W are vectors in R", does @ o (T ® W) exist? Explain. (1)
(d) Given that we (v x w) = 3, find W e (v x 1) (2)
Question 7 4]

Let 4+ 2z = 0 be a plane in R3.
a) Find a basis for the plane. (3)

b) What is the dimesion of the plane? (1)

Question 8 2]

Mo, is the vector space of all 2 x 2 matrices, with the usual definitions of matrix addition and
scalar multiplication.

_ 1 0] _ 1 0 _ 0 0
Let w, = B DR P PR Rl PR

Is span(w;, s, w3) = Mas? Motivate your answer.



